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Inf+]:= SetDirectory["C:\\drorbn\\AcademicPensieve\\Projects\\SL2Invariant"];
<< SL2Invariant.m

Inf+]:= Kink[@, $k_] = E[0, 0, 1]4;
Kink[n_, $k_] /5 n#@ := Kink[n, $k] = If[n > @,
(Kink[n -1, $R] Kinkmk) ~By,p~dmy 5,1,
(K:i.nk[n +1, $R] mmk) ~By,;~dmy, 5, ]
Kink[n ] := Kink[n, $k]

1= Kink [1]

Booted

@ $k=0 in 1.735 sec.

Booted @ $k=1 in 2.64 sec.
Booted @ $k=2 in 9.188 sec.
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1= Kink [3]
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inf-= Kink [7]
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inf-= Kink [-3]
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288 B21/2
3564 y h* a; BS x3 y3 + 1296 h* a2 BS x2 y2 + 2304 yv> h* B] x3 y3 - 4032 y h* a; B] x2 y? +
1728 h* a2 B] x2 y2 + 1440 y? n* B8 x2 y2 - 2700 y h* a, BE x2 y2 + 1440 n* a2 B x2 y2 +
576 ¥* h* B x3y2 - 864 y h* a; B] x3 y2 + 576 h* a B x3 y? + 1442 n* B9 x2 y? -
108 vy h* a1 B x?y2 + 144 n* a2 BI® x2 y2 - 43522 n° B3 x3 y3 + 2376 vy h° a1 B3 X3 y3 -
8640 y* n° B} x3 y3 + 5040 v h° a; BT x3 y3 - 10080 v n° B3 x3 y3 + 6336 y h® a1 B3 X3 y3 -
7520 y> 1° BS x3 y3 + 5040 v h° a1 BS x3 y3 - 4032 y2 n° B] x3 y3 + 2880 v 1° a1 B] X3 y3 -
1440 y2 n° B8 x3y3 + 1008 y n° a1 BE x3 y2 - 32042 n° BY x3y3 + 216 vy h® a1 B X3 y3 +
1089 y2 h® x7 yT + 3168 ¥2 h® By x} y? + 5274 v 1® B2 x7 y1 + 5904 ¥2 h° B3 x} y¥ + 4923 v2 n® B x y7 +
3024 2 1° BY x7 y1 + 1386 y2 1 BS xT y§ + 4322 n° B] x} y1 + 81 n° B x} y1) €? + 0[€]?]
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